oy DRI T o
J'-.':‘“-i’i. T '{:.l' -:

(What Ynu'll Lear

\;'u J"‘fhl l|

'||:|

=, "'\-lf-‘ﬂ.

S SEondhe lessan* Write ﬁ:e Jetinions of Tinear rela‘l‘mns‘h:ps

and conffan'i‘ rate of change. e
higs— r@ltﬁwu\f\sh%ﬂnﬁkr
0

'ltoS

. UnSank m&f mx A
CWL\W oahl.fuv W s

Music Marcus can download two songs from the Internet each . ]
minute. This is shown in the table ttJe-:Ic:ﬂ.*.rf
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Time (minutes), x O IE18 1E2 2 1R 3 14
NumberofSongs,y | 0 | 2 | 4 | 6 | 8
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1. Compare the change in the number of songs y to the
change in time x. What is the rate of change
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2. Graph the ordered pairs from the table on the graph (0 lr 0)

shown. Label the axes. Then describe the pattern
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constant rate of change
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172 Chapter 3 Equations

Relationships that have straight-line graphs, like the one on the
previous page, are called linear relationships. Notice that as the
number of songs increases by 2, the time In minutes increases by 1.

+2 +2 42 42

NN AN ; Rate of Change
Numberof Songs,y | 0 | 2 | 4 | 6 | 8 T:zsongs per minute
Time (minutes), x 1RIN2 81830 (54

N A\

+1 +1 +1 +1

The rate of change between any two points in a linear relationship
Is the same or constant. A linear relationship has a constant rate
of change.
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1. The balance in an account after several transactions is shown.
Is the relationship between the balance and number of
transactions linear? If so, find the constant rate of change.

If not, explain your reasoning.

Number ﬁl} Balance
Transaction ($) \{ :

3 170
+3C D —30 As the number of transactions g

6 140 increases by 3, the balance in
+3( 9 110 |/~ the account decreases by $30. | 3
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X 5

Since the rate of change is constant, this is a linear relationship.
The constant rate of change is =20 or —$10 per transaction.
This means that each transaction involved a $10 withdrawal.
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